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QUESTION 1

Your company is implementing Order Management Cloud to manage the sales orders but fulfillment happens through
third party logistics (3PL). What process should be executed to communicate to the 3PL system that the sales orders
are ready to pick release and ship? 

A. Manage Shipments Interface 

B. Create Shipments 

C. Confirm Shipments 

D. Generate Shipments Request 

E. Send Shipments Advice 

Correct Answer: D 

References: http://docs.oracle.com/cloud/latest/scmcs_gs/FAIMS/FAIMS1796462.htm#FAIMS2605728 

 

QUESTION 2

A furniture retailer wants its online buyers to first choose their underlying need, which will then direct them to the related
list of accessories and product parts of the configurable furniture product. The retailer intends to do this by presenting
standard questions to the online buyers on their needs, and then presenting the related list of accessories and parts
through dynamic user interfaces. 

What step is required to enable this feature? 

A. Add a supplemental structure to the root node of the item-based model in the workspace area of the Configurator. 

B. Add a supplemental structure to the option classes of the item-based model in the workspace area of the
Configurator. 

C. Add a supplemental structure to the root node of the item-based model in Fusion Product Hub, and then import it into
the Configurator. 

D. Add a supplemental structure at the option class level for each model product in Fusion Product Hub, and then import
it into the Configurator. 

Correct Answer: A 

 

 

QUESTION 3

You have deployed the Extensible Flexfield (EFF) successfully but it is not visible in the order capture additional
information section. 

Identify the two reasons for this behavior. (Choose two.) 
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A. The EFF definition is not frozen. 

B. The EFF segments are not defined correctly. 

C. The EFF compilation is not done. 

D. The custom extensible flexfields are not published. 

E. The EFF context is not associated with the page. 

Correct Answer: DE 

 

QUESTION 4

You are in the process of setting up a constraint that prohibits update to an extensible flexfield in a fulfillment line if Ship
From Warehouse is X and the fulfillment line is booked. You are able to see the extensible flexfield on the "Manage
Constraint Entities" page but not on the "Manage Processing Constraints" page. 

What could be the reason? 

A. The "generate packages" program was not submitted. 

B. The "Publish extensible flexfield" process was not run. 

C. The extensible flexfield is not enabled. 

D. A "Record Set" needs to be created for the extensible flexfield to be visible on the "Manage Processing Constraints"
page. 

Correct Answer: D 

A record set is a group of records that are bound by common attribute values for the purpose of constraint evaluation.
You can define conditions and specify a record set to be validated for a given condition as defined by the validation
template. 

 

QUESTION 5

Select the two principle elements of the pack functionality in shipping execution. (Choose two) 

A. Trip 

B. Delivery 

C. Trip stop 

D. Delivery line 

E. License plate number 

Correct Answer: DE 
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